


Llenun ypoka

e [loBTOPUTHL
KOHKPETHbIN CMbICJT
YMHOXEHUA,
nepemMecTUTenbLHoE
CBOUCTBO;

e [lo3HaKOMUTbL C
NOHATUEM
A/BENMNYNTDL B
HECKOJIbKO pa3s»,
doopmmpoBaTb

LUADRLIVIA TAARIAULIATFA




CpaBHUTb BblpaXXeHUS

e 43+43+43+43 ..43%x4

e 16+16+16+16+20 ... 16x3+20
e 6/+6/7/+6/+6/++76 ...6/X5+76
e 58+58+58+58+60 ...58%5

¢ 91+91+91+91+91 ..91x6-90




«17%3
= 2%50
« /X4
= 5X8
















BaHbKka — BCTaHbKA,
BaHbKka — BCTaHbKA,
lpucepan —ka.
HenocnyLwHbIN Tbl
Kakowu!

Ham He cnpaBuUTbCA C
TOOON




Kakmumm 4YncnoBbiMu BblPpa>XEHUAMW










3allOMHHU

YBennynTb Ha

YBenmnynTb B

T 4 S £Sa900 <




[Togymau, moaxoauT cxema K 3aaade’

? NTuy




.

yL‘IM ‘l"-“,‘"...,', ,.:'

MOY {PomoaaHoBCKas
oOLleobpa3oBaTerbHas

LKkona Ne3»



